Run 13241, integration on 12 samples

HG pedestal [ADC]

1.5 0
s
1.0 *y
3)“".
o‘; ‘.“!, f..o .‘£ 3 -2
0.5- J‘ R ATF O L :;“‘.
‘?. . * . . ”}. ® .0
— ¢ e PE DS 3y
E oof L ATiRI G ] -
> % o, ‘N ¢
o . L I
—0.5{ s$ S, il kT B
’* L™ .ﬁ ® t. —0
AR L 4
~1.0- A2 o ¢ T
v b B
—8
—1.5- | | EngilneeringCIameraFrlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
HG pedestal std [ADC]
36
1.0- “:"w_{ )
@
» $§° 3 .,..ay:..o ® - 34
0.5 - 3 L S ee, d o %%
Y] B A 1 AN
NN e UL, e “.ot‘ - 32
—_ $ ® *°% e ® .%
S b o‘.# o¥0e o4 3
— 0.0  ° . ; ° R ."%‘i
> g ® ® N, 2o .. - 30
RV Y ALy
®
NI s AN VOTSEs SO0
' g o0 e . ° 'l o -28
g I e XL P |
PY Q@ o ‘
L% A ﬁ o'.’. e
W, o8
—1.01 ® .“.%, 26
Tw
| | EngilneeringCIameraFralame 24
-1.0 -0.5 0.0 0.5 1.0
X (m)
BN HG Median -6.25, std 2.24
100 A
80 1
0
<>1<-’ 00 -
Q
40 1
20
O_
-15.0 -12.5-10.0 -7.5 -5.0 =-2.5 0.0
HG pedestal
B LG Median -5.19, std 2.18
100 A
80 1
0
0 60 -
Q
40 1
20

O_
—-12.5 -10.0 -7.5

-5.0
LG pedestal

—2.5

y (m)

pixels

pixels

1.5

1.5

1.0

0.5-

0.0 -

0.5

1.0

1.51

80 -

60 -

40 1

20 -

LG pedestal [ADC]

o. :‘:ﬁ..:}.
oS PN
4 )‘:(ﬁ.f‘:w . .:?i%} 1
o.‘. ..‘. :o:q
g.{ .”,”.f}:’f.w
Oy. .ﬁ#.f” ﬁ. ood 3
o U T
v X
. :0. o.f::.’ht ..:..,. t.f.’
:.v :}*: .ox
o:.’*’
| | EngilneeringCIameraFrlame
-1.0 -0.5 0.0 0.5 1.0
X (m)

LG pedestal std [ADC]

:.Oox » *.Q‘.’.o
g‘ .t .’.W ‘1.’

3 A *"f -
Ty
.{: % v 5::"$:} ‘?’

"tt_& :.:j_.g x’fxf
SR
‘....
| | EngilneeringCIameraFlrame
-1.0 -0.5 0.0 0.5 1.0
X (m)

28

-26

24

22

20

B Median 30.70, std 2.49

25.0

27.5 30.0 32.5

HG pedestal std

35.0

37.5

LG pedestal std

B Median 24.50, std 2.64

O_
17.5 20.0 225 25.0 27.5 30.0 32.5




600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 13241, pixel O

—— event 1001, HG: RO

baseline correction
+ dt corr + corrected spikes
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Run 13241, pixel O

—— event 1005, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset
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